Addai2y7 Eoogle Play

T 10 e & vt oo S-RAEH & I W A SNOHLIR. ST W @ i o oeRd & 1 AR ORI T 9 Se-gRas
%Wﬁﬁ%maﬁggﬁmssingWmsprintﬁﬁﬁmamﬁmm-mwal

Sub. Code No. — 1308 Level - 3
PGT - For Lecturer
[ urer ] Exam., 2023
SET-A ECONOMICS TSGR Ui T oL A
Question-Booklet Serial No. & O. M. R. Serial No.
39 U-gRaw & gt A He U @ Fen T
No. of Pages in this Question Booklet — 48 | No. of Questions — 150 Time — 2.30 hours

STTFAIE (BT ) / ROI NO. (IN FIGUFES) ..o
ST (FTRT H) / RO NO. (IN WOTES) ... eereeeeeeeessssssaae e eeeeeeeessssss e e
QT 5 BT AT/ NAME Of EXAMINGHON CONIE ........vveoveveeessessssssssssssss e ssssssssssssssss s ssssesss s s ss s ss e sssss e s s st
G BT AT/ NAME OF CANGIAALE -....oove e ee e ee e ee e e e ee e ees e e ee e ee e ee s e e ee e ee e ee e see e e e eeee e eee e seneesenee

il 3 SRR/ Signature of Candidate

et 10 BFE F 9 g9 W B4 T B 17 T SR T 7 A FEer A & e R srem aR ge-gRawm @ S =
N FH WO T S & A1 By IS missing I1 misprint B T T FR UGS § AT H IT-GRAHN T/ A1 IHb G Hig @0
WeR T far smem 39 10 B 3 ofRem, we W @ S i B @ R @

2,30 € F T R som R REh onmeft @t
ge-gRaem & Ru T Rl o uew § B8 R @R W wie & A 3 R o o sl @ Suw dfvaeT % @ R s R
M o el iR R & RN 39 @ § oY WRET S FEid ¥ 39 Al 9 &1 39 o @ 956, 39 99 ¥ |
yiRE W s fEm @ R smm

IR Rl ge7 F B 7 oA aregw 7 Rrrar & at g aregm #w g9 3% TAET W

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

\?IWW % e ﬁiﬂl/ Instructions for the Candidates :—

1. SR, IR OF 30 IT-RH & X T@ 8l 9 ST Ie-GRaH Te H Fel S, A W T M X @M § dAd w O
‘alg? ﬁ;f @( foar sﬁl / The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the Question Booklet, take
out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.

2. Tem i ofy 2.30 ¥ R U QQ:T-W # 150 §eW & PE TS S el 1 / The test is of 2.30 hours duration and consists of

150 questions. There is no negative marking.

3. AT R SR T @ I TE W MM @ & T 3aq B S 9RO F SEN B e 9eT-gRasm B IwE & w
I T P AT § @Y X1 / Use Black Ball Point Pen only for writing particulars on this page/darkening responses in the
Answer Sheet. The candidate should remain careful in handling the question paper and in darkening the responses on the answer
sheet.

4. yum 10 fFe #, 75 A ghRed & & B oe-gRam % o S T FHiE 0 8 81 OFR 38 B 8 a1 ged-giae § i s
missing I1 misprint & et iﬂﬁ H-‘FT-EW AN TN T o B ﬁ!"'\’ e P [SASSESENN] Eb_'(_CITEI / Within first 10 minutes,
also ensure that your Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy or any page
missing/misprint in test booklet, then the candidate should immediately report the matter to the Invigilator for replacement of both
the Question Booklet and the Answer Sheet.

5. qaA-3 [ YaT > fo ] 5. Level-3 [ For Lecturer ]
AM-1 ;o {9 e e M1 &/ s 30] PART-1 : Child Development and
G-I I (ST 31 & WS 60] SRR L Pedagogy [c[)Qn51 :O g”' Zg}
. Sef -II : Language: n. o Qn.

(- 155 = 11857 (Hindi : 15 Qn. & English : 15 Qn.)

AL T S [T 61 & 537 90] PART-III: General Studies : [Qn. 61 to Qn. 90]
(' A a|'; T : 10 9, Tk SRR : 10 SR, |Ird (Quantitative Aptitude : 10 Qn, Reasoning
T T A : 10 95) Ability : 10 On, G. K. & Awareness : 10 Qn.)

-1V @ ofdeTe (19791 | 997 150] PART-IV: Economics [Qn. 91 to Qn. 150]

|@‘T€{T Sl QTFW & o & Ru 9w R @ ‘ﬁfl / Please read other remaining instructions given on the last page of this booklet.]l



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

% %4 3 T [FOR ROUGH WORK]

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

9T — 1/ PART — |
I fe 9 e / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa g9t & SR 39 & e @9d SR fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

GET IT ON
Google Play

[3/A]

1.

qforh 9 § dferd s== % e e
e 1 {78 IugeRt =il 7

1) omuae farEm
2) fafdre forem
3) wHmst fren
4) ot e

fr=ifofeg & @ d9-91 &9 TReEs

& mE-aEe fgem S &

T fhuEen & dey ¥ gal

g7

1) SE-YeaM & EHHS FRI-aHIoTh
75 ol

2) STE-UEdM T FOMED AAl-QrHioTh
7& ol

3) IE-UeaM UH qetd HHI-9rHiorh
RS

4) E-YEAN His FA-GHITE TBY
g el R

TF gemL e § fefated § 9
H-41 faQrear 72 3E AR ' ?

1) SEn Ride
2) 3iq forEmar
3) U= FHAA
4) TR R

[ Level-3 /1308 ]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative
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1) THo Hio Tho 2005
2) Udo Fﬁo éo 3o éTo
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4) FFE®
8. 3is T fomw # fhe U & Raad
A § ?
(@) X & MHR ¥ qRaad
(b) SRR & g # qReA
(c) YU Tl &l foeiia
(d) A faQiarett 1 AR
7& T F T BT
1) (), () W (c)
2) (a), (b) W (d)
3) (a),(c) W (d)
4) (a), (®), (c) W (d)

9. Ffafag & § dF-a1 Fa FREROT
& AT R GHRIEE T919 W 787
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1) ARTERIT dEq & FdeR & &
FHC B
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3) ARTROmT HEew % FGeR H
IR SIS

4) T HEW & FGRR B
T ST ©
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"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (@), D) & (d)

3) (@,() & (d)

4) (@, ®), (©) & (d)

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation impairs learning
behaviour

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.
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Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@© @
1) 1 III II I
2) III II Im 1
3) II 111 I II
4) 11 I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual
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1) (a), (b) W (d)

2) (a), (b) W (c)

3) (a),(c) T (d)

4) (a), (), (c) W (d)
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1) Todeiss & 99 TN J0e9 Th
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Which of the

examinations are the basis of

following

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (b), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test can be either

individual or group.

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.
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15. frfefaa & & d9- JH A & 15. Which of the following pair is not

Promar ﬂ@ frsid & o ﬂ@ @ correct regarding elements of
dd T 39 AOM 3 dey § TR intelligence and their dimension,
T %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g@f % @ SN Intelligence
1) IHE IS 1) Unit Product
2) G fshar 2) Cognition Operation
3) Hedih fspar 3) Evaluation Operation
4) gy ferrerereg 4) Relations Content

16. frfefag & @ @9-d 9@ *f=Ea 16. Which one of the following is not a

HARFM gRehol Hl TqE Qv 78 key feature of child centred

g7 learning approach ?

1) TRE HeEe & oEEr 1) Meaningful learning

opportunities

2) Uehdl 78T T 2) Single learning pathway

3) Hdad W 3) Continuous assessment

4) {™ fareror |fdT| 4) Accessible learning settings
17. 990 & AR, N Hie| @l 11. According to Bandura, which is not

HN-G SraHeeT Uk 78 & ? the interrelated processes of

observational learning ?

1) SAIYEIHS BIEDIIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) RS TR 3) Motivational Processes

4) DIEEI e P 4) Conjunctional Processes

[ Level-3 /1308 ]
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WS & Hlneh G i @
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HAIRME - TR -
EREIE-RIEIS)

2) TEEEl — FEEEe — [T
JgEER —  SEEAEer -
RCICEI]

3) gEEEl — TEEET - [
qgEER > eIl -
ERRIE-RICIS)

4) FIFERA - EEE -
qEEe — SEAEgEE — T
BEIEIEIS|
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According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.
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22. Yg@@ & 9 OHEI?FT R 22. According to Pavlov's Classical

fsia & SINKIRE (SR IECAG] \ﬂfﬁﬁlﬁ Conditioning theory of learning,
SEIUH B ERﬂ?ﬁ?b_{'UT T HY-GT BB which temporal sequence
Y GE B Gaifes gead HEm ? presentation of natural and
conditioned stimuli will most affect
learning ?
1) G HHID 1) Simultaneous
2) fowifaa 2) Delay
3) Gaa 3) Trace
4) GLTH 4) Backward
23. O™ & deeiers foer Risid @ 23. In which stage of Piaget's Cognitive
fpe  ofaem H GTEKf i @ Development theory does the
ARG B e faeiea & Sl ability of abstract thinking and
g7 generalization develop ?
1) KECEILE 1) Sensory motor
2) Yd-HishaTeh 2) Pre-operational
3) ﬁ—ﬁﬁﬂ?ﬁiﬁ 3) Concrete-operational
4) SMroenRep-wfshareen 4) Formal operational
24, UiqweTell fEnfRt & fow FrefoRad 24. Which of the following educational
T q - s Fawen 7@ @ T arrangements shouldn't be made
ey ? for talented students ?
1) @ ooiee & & oTaax 1) Opportunities for independent
project work
2) I 2) Acceleration
3) SUARIHH e 3) Remedial teaching
4) RECRIEIRE 4) Enrichment program

[ Level-3 /1308 ]
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H TF sid 78 & 7

1) TRl & i

2) T @ f=ia

3) fafdear &1 Sis9 79 &1 osid
4) T & R & f&sia
frfafag § @ fF-a1 d@ Jafs

Rreraiell & orgaR Reor & gwedq
7&f o ?

1) foeniEl & s=1 998
2) JARTH TR
3) UIgIshH H R

4) TaaRigl o avae @1 a9

fafaree  omasEeRdTAl A T=E
AEPEN B QW FE H Jem
T T g 78 o

1) [S91 4S99 &% fOened | masr &+

2) gau g glaEmd sem B

3) I T STETHar B TEAMI
Ud eI § el @

4) 32 HAETH HEEd Qa8 G
HET
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Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.
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28. fr=fafad & @ d9-91 &9 e 3

29.

30.

g § o 78 B ?

1) [9FE IREET T ST Hw
3@ B

2) URR @ & g | a1 Al
foeprg atfres iR 2 B

3) fomm fox @ W & fRsm & om
T Bl

4) fopE =g o ¥ B # SR
T Bl

THEs e & Bemrh Rsia has
/T ufquifed fehar ar ?

1) iy, X Td Rrres
2) WX ug forent

3) WHBAT TG &R

4) odel, Sfed Td g

“HMIHTT H o1 & g gee
¥ gRUFadr ST | & 98
g fhes a o & i R O?

1) S St
2) We
3) R
4) BWH
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Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3 /1308 ]
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31.

32.

33.

34.

fqQwer & deg # dHi-ar @é gatad

7ET T ?

1) ARG - |51 9 i &k

2) UiEaH - faQier & IavEen

3) UREH - JorErE Qe

4) Y - G § FEa HEaEs
El

g foecy # =-g™ & TE Y 9
7 77

1) Sf - &@, ael - gt

2) WY - &9, §Y - &d

3) IR - =&, FIERT - ASl
4) HR - Hidl, g - A

HI-91 H @@ 78 © 7
1) s - am I
2) HK® - qa9d 9=
3) faast - W 9=
4) VA - ke o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ @ § 7

1) HIMET = FA + AEH

2) Y = amr + ST

3) AMHIN = T h + 0

4) TgH = Y + A
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35.
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31.

38.

fp faheq & WHE W gl
A H ISET 78 & °

1) QST SO
2) dHsaTd, RS
3) YA, HarEd
4) UERR, qgqufa

frg fabeq #1 = ‘o ITEd A
T 7&f = ?

1) M

2) it

3) I

4) IFER

e # 9 e 9T @ 9= faeee
Tt 9 fafa § °
1) Gedtad, siferr
2) ST, FHHEL
3) Regd@R, ST

4) TSR], B

EaE 9|l ® d9g ¥ -
fereq ofgfaT @ °

1) I=AT - fEHRT, rgdiy], wede
2) &S - G, JuHl, A&

3) T=_A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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39. AN e d e faseq & a+ff 9=
g E 7
1) T, @R
2) TG, SEY
3) e, e
4) RfE, T

40. ‘TR TMHl ¥ 9RG H AR BT’
ST ad § @ifed I HAM R
1) SHiFdares HsM qeT Sicaraeh G5l
2) Siiadreds G qo1 AgarEs ds
3) Hiddrash Gsl T Afkiars ds
4) HEqED G AT Alddreh G5

41, = ¥ 9 59 qeR B A €6 78

g7

1) T W ) T BN - SR
B

2) Y F T TX A - foFT O™
% P A9 T BT AT

3) T e UMl dNT - A &R
S SIS

4) FAM 9 qR a0 - feet @
g Gl

42. a1 & HdY H ofgfaq e T

1) & & AR W B6a & ‘dHie
wd ‘oTEHE & 9T AW S S

2) gﬂﬁﬁ@ﬂéﬁﬁﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
[

3) T g7 @ & foramn s’ I
qrR # RO AT SgE &8 o

4) ‘SiogEr, ‘ASAA’ T U
AT BRa % SRR B

43.

44.

45.

GET IT ON
Google Play

M & ey ¥ PN-a1 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACEIIEE
I I

3) ‘TEVEEE AW & IR e AW
ST &

4) FrG gM @ R & UG e
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

fre faeq 4 Rodaeis 3= ommT
T ?

D 99T - Jadd

2) T - HENE

3) &9 - ad

4) M - WE

THT ® MU THA 9= P Gey H

ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R
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[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3 /1308 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.
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[16/A]

53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3 /1308 ]
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RS QdT, diihe SRl el 9T S U9 IREIM / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61. I A 4 RBX & I WX IO f&em
# R oAl Je F@ @l ©, ol
SHS 919 B H R B

1) I3
2) UltEH

3 T
4) IR-UIRTH

62. T% A 20 [l g0 & &I & e
¥ uF gue # qur I g0 H@ AW @l
footg s & 2 9@ & @@ O F,
@ AT ST A9 B A ®

1) 10 fH1/=0er
2) 12 fHHI/a9e
3) 13 fHI/aven
4) 15 Al guer

63. 15 Fidl & TP H 7 Ak

[ Level-3 /1308 ]

61.

62.

63.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12 km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) 0 2) 3
3) 4 4) 5

P.T.O.
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64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
9 9 7d W U@ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & W AH
He-AT B ?

1) odf
2) 108t
3) 114
4) 128t

Ueh %= e A § 'CEG' &l ‘TSR’
qg FH]' & 'QPO' for@m ofem 8, af
TH @AM AW H OIRKM' @ femr
SR

1) NOP

2) NOL

3) NMK

4) NML

Rl EAML ¥ fhaq orfe o= 913
ST 9 B 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgys d aiie Hv
& BT B 7:2 8, @ 9
TS A TSl dH WA B

1) 7 2) 8

3) 9 4) 11

[ Level-3 /1308 ]

64.

65.

66.

61.

GET IT ON
Google Play

In a class of 35 students, A is
placed T7th the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

68.

69.

10.

11.

= |V

frfafed @& S & SFET 0
ST I
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 g9 H,
T B T 1 dF P I 6 gUC F
A o HhaT 21 IR AT A B T
Y 2 g9¢ & U @iem & 99E T
A P F< FK A Y, @ 7@ B W
ST & e AT T ?

1) 2 g2 ¥

2) 2% g9 §

3) 3 gwe d

4) 3% g {

gfe forer ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &,
G Yed § 47+33 F A B :

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R&H
oqr ?

1) War

2) e

3) R

4) TR

[ Level-3 /1308 ]

68.

69.

10.

11.

GET IT ON
Google Play

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 % 81 = 29, then
in the same pattern the value of
47 %« 33 is:

1) 40 2) 41
3) 38 4) 53
If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.
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[20/A]
72. o) T SFET UE R 12. The next of the series is:
Z1A, X2D, V6G, T21], ? Z1A, X2D, V6G, T21], ?

1) R8IM 1) R8TIM
2) R8IN 2) R8IN
3) R88P 3) R88P
4) R88M 4) R88M

73. 3OS qoiHmN g, @ "I"i£ Iprt F 13. In English alphabet, the number of
HAFT PR ® HAH B3 T SPER Hl letters skipped in between
9 T d FH Bl S %, adjacent letters in the series is
frafofag afmt § aF-@ 9 e decreased by one. Which of the
T IS B & 7 following series observes the rule ?
1) DJOTV 1) DJOTV
2) DJOSV 2) DJOSV
3) DJOSW 3) DJOSW
4) DIOSU 4) DIOSU

14, x-3%, y-3& T 4x+3y =12 G 74. The radius of the circumcircle of
e %f‘ﬂ\_rf ® CBIEE! P B T the triangle made by x-axis, y-axis

and 4x+3y =12 is:

1) 2 @ 1) 2 unit
2) 2.5 3HE 2) 2.5 unit
3) 3 TR 3) 3unit
4) 4 TR 4) 4 unit

75. I8 999 BlKl 91 9 Zﬁﬁm, fora 15. Find the least number which must
15463 # Sies WX U %A 107 9 be added to 15463 so that the
T‘W frefora & o ® resulting number is exactly

divisible by 107 :

1) 52 1) 52
2) 88 2) 55
3) Tl 3) 71
4) 76 4) 16

[ Level-3 /1308 ]
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16.

11.

18.

19.

= |V

UMl H g H E g H PRt
ST ST 6 uT O b R g W
o W 20% & A B ?
1) 1:5 2) 2:8
3 3:5 4) 4:8

e FfiEd R @1 4% affe W W
2 99 % QT ThafE S Ud ER
S FH YT 8

1) 52:51
2) 52:50
3) 51:50
4) 53:50

%Ti%A,BaaTc?r%:

W |

ogua & el T Th AR R
R 4 e ggEg A A ST O &
50% e fan At af & o= H Fa
21,600 YA H AN A &, ol 9
T Y B R B

1) 2,400 &9

2) 3,600 &G

3) 4,000 &G

4) 4,200 R

Uh A 20% Y 9 Th & i
SO B, A I I & 12 TW@
AiYe | o=, df IH 10% B AT
BITl 3 a%g H HY YA ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3 /1308 ]

16.

11.

18.

19.

GET IT ON
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[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

2°3'5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.
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[22/A]
Y%, % =
80. a1+_aa +11—+a\/g S
1) ﬁ
5 21
y L
4) %
81. Qe Ma G owared @
1) o R
2) FHoEe o |
3) IR P &

82.

83.

SR ECSIRESI

fhe BRAE 9 T, 2023 H AN
TS %l B [T ?

1) w9 o

2) eaiy [HeE
3) Iy R

4) Wifed

Ao & efated Togaen H 9
P oE W TH SR & ?

1) o gHdiRK

2) 4 JIwR g S

3) 4t sl ST W

4) & gL e geariern

[ Level-3 /1308 ]

80.

8l1.

82.

83.

GET IT ON
Google Play

Ve —Va

al/zltaa_ +11__|_é:/g is equal to :

1) ﬁ

5 21

» L

4) %

ﬂistorical village Sugh is located

in:
1) Ambala district

2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia
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84

85.

86.

81.

= |V

. AEERE WU S G 0 g0 §
1) <9 ¥ 2) Parm ¥
3) g H 4) ead H
Mar S T9RE 9 A9 § "R
S 8 ?
1) s 3§ 2) AELY ¥
3) oM@ d§  4) o H

qg FeeeEE & gx H e
B @l T :

() 9E G & R )
(i) I8 TH TR 9
Gehierd @I, S GarE & &9 § B

7& HE F TIT BN :

1) 399 HIT (i) TEI 2

2) Had B (ii) eI 2

3) T A FAT (i) M A & BT (i)
T B

4) I FAF (i) R (i) T 2

[ Level-3 /1308 ]

84.

85.

86.

81.

GET IT ON
Google Play

[23/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) Rohtak

Geeta  Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana
Who is the Chief Commissioner of

Haryana  Right to Service

Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither
statement (ii) are correct.

statement (i) nor

4) Both the statements (i) and (ii)
are correct.

P.T.O.
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88. =RAMT ¥ RGN WoW dx FEl R 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) #EX 3) Jhajjar
4) TyEm 4) Bhiwani
89. BRIMM T Hedhrl ?ﬁ Td I 89. When the Haryana State Co-
foere arE o #t ®AT &9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥adl, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) SVEdl, 1996 4) January, 1996

90. =Emm # Ardl™ SChll MEnfen 90. Where in Haryana, the Indian

HEI el R B 7 Institute of Information Technology
is located ?

1) dHEa 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3 /1308 ]
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[25/A]

91.

92.

93.

“smafa o RE? & G § -
H FAT T ?
1) T SN qaq i § 2 B

2) IR T @RSt B, O g
3= IT9as IO H e ARy

3) @l aad UH-gER ¥ W EU S
SIS

4) IFd REl # GEd 9 @HRR
ey 1 e fear S aer &

IR & R HifT F9 AR TS ?

1) % HEd 1966
2) Y&l BEd 1965
3) & HOd 1966
4) E{% BEA 1964

A FER § S -
qMEM” & &9 § Y ik SUeHIe
T IYANT Bl B ?

1) Y99 o=
2) EHErY
3) fawr

4) GaHD

[ Level-3 /1308 ]

91.

92.

93.

Which statement is false regarding
"Frequency Histogram" ?
1) Itis used for continuous series.

2) If class intervals are inclusive,
should first be

converted into exclusionary

then they

ranges.

3) All the rectangles are made
adjacent to each other.

4) Arithmetic
determined with the help of

mean can be

histograms.

When was the Green Revolution

adopted in India ?

1) Kharif crop 1966
2) Rabi crop 1965
3) Rabi crop 1966
4) Kharif crop 1964

Which statistical tool is used in
weather news as "daily maximum-

minimum temperature" ?
1) Standard deviation
2) Correlation

3) Range

4) Index Number

P.T.O.
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94, AR STdEEE H HH-T Nul TET 94. Which is not a quality of socialist
g7 economy ?
1) e Tl B Aeaqq IUAT 1) Best use of economic resources
2) U CEIRC| Eﬁ\“‘f 2) Freedom from business cycles
3) SR @ ArdTHEa 3) Consumer universality
4) A e 4) Planning authority

95. fifiied H§ & e Marer &1 #ergd 95. Which of the following is not a
AR FEhH BF-a1 7eT & ? wage employment program for

poverty alleviation ?

1) &M % Tad TS HRHH 1) Food for work program
2) T4 2) TRYSEM
3) STarEY USFX For 3) Jawahar Rojgar Yojna
4) T 4) NREGA

96. S ol & TN FREGAT, S 96. When the Marginal Efficiency of
X 9 AT B %, [SCI Capital (MEC) is greater than the

rate of interest, then :

1) AT KT Bl T 1) Investment is negative
2) REE A B B 2) Investment is zero
3) A g B ® 3) Investment is positive
4) fRS o= & ® 4) Investment is infinite

97. 1991 ¥ URH R ™ o7 ﬁﬁﬂ'\;f @ 97. As a result of the economic reforms
Gy N H SPOT H 9RAE started in 1991, China's dumping had
AR % P9 8 W 999 GaE the most dangerous impact on which
q9Te ISt ? sector of the Indian economy ?
1) ?ﬁ &= 1) Agriculture Sector
2) d&Y SEN & 2) Large Industry Sector
3) THo THo To 3o &F 3) MSME Sector
4) EIKE] 4) Service Sector

[ Level-3 /1308 ]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

98.

99.

SRS @ fEE ofaen & g% F@

qMd © ?

1) URECESIA | H R SR
I3 o7l Biel &

2) %N IR ggdl g8 & § el
Bl

3) ReR Qe &l Sgdl g B FUe
% A IS & [

4) 99, FI AR ofEd  IdRd
95d 8T Bd &

TF AR B WX
1) S H AR ReR ud A
U IREdaeid el 2l

2) SO P AR AR WET ST
IMl R B B

3) S P AET AR WET ST
IHT IREcHe B Bl

4) IART @ AT GRECAS T HES
ST ReR 2 B

[ Level-3 /1308 ]

98.

99.

GET IT ON
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[27/A]

Why does the second stage of

production consider as best stage ?

1) The marginal product of a
variable factor increases.

2) Total production increases at
an increasing rate.

3) To take advantage of the

increased efficiency of fix

(stationary) factor.

4) Marginal, total and average

products are increasing.

On an Iso-quant curve :

1) The quantity of production is
constant and the factor ratio is
variable.

2) Both the quantity of production
and factor ratio are constant.

3) Both the quantity of production
and factor ratio are variable.

4) The quantity of production is
variable and the factor ratio is

constant.

P.T.O.
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100. SUSFMY & #99 ¥ “OMe AWg qy”

101.

T 7 AR B 7

1) 6 g9¢ Sy & O™ @ 261
&l &1 AT

2) 8 g9 Ik @ @™ ¥ 273
&l &1 AT

3) 10 g9¢ Fiifed & fea & 313
&l &1 AR

4) 4 ¥9¢ Uiy % fed@E ¥ 365
&t &1 AR

IO $HET AR GHG HFd d HqEY
§ fifhd HEHl WX foER i ¢

() IO HHT  STRIIE IR
131621 52 T 1< G121 S S K
Bl Bl

(i) SR H9d & FaRe § A
$ 9qF qFE Bl B, Sieih
A Hiad gl @ Sl gt
Bl Bl

ACCIRUC L

1) I WE T B B (1) T ()
F Sfad amen g

2) I T TE B B (1) T ()
& I AT TE BT R

3) @ad HIT (i) TEl Bl
4) Fad HIT (i) T Bl

[ Level-3 /1308 ]
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100. What is meant by "Standard Person

101.

Year" in measurement of

unemployment ?

1) 261 days of employment at 6
hours per day

2) 213 days of employment at 8
hours per day

3) 313 days of employment at 10
hours per day

4) 365 days of employment at 4
hours per day

Consider the following statements

regarding market price and normal

price :

(i) Market price is related to very
short term and normal price is

related to long term.

(ii) Demand side plays a major role
in determining the market price
whereas the normal price is
more influenced by supply.

Choose the correct option :

1) Both statements are correct.
statement (i) is proper
explanation of statement (i).

2) Both statements are correct.
statement (ii) is not proper
explanation of statement (i).

3) Only statement (i) is correct.

4) Only statement (ii) is correct.
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[29/A]
102. I 3R FR W =R HfC : 102. Consider the statement and reason :
Y Wﬂﬁﬁﬁ A e # ofeq Statement : In modern cost theory,
A SUSH B Y-SThI A Average cost is not U-
BT TH-THR &l Bl & shaped but L-shaped.
HIROT : S | g D TEAM Reason: By improving
gicieel i Fraelierar o F@ﬁf technology, the
AT ST THT 2| efficiency and trend of
diminishing returns can
be stopped.

1) 394 R i?h'g PR AT 2l 1) The statement is correct but the

reason is wrong.

2) ﬁ, DT TGH 9T Tefd 2| 2) Both statement and reason are

wrong.

3) BT TH BT A & R T, 3) Both statement and reason are
HYT Dl IYYH ARHT TEl Bl correct. Reason does not give
2l appropriate explanation to the

statement.

4) YT T IR I 4) Both statement and reason are
BRI, HIT B SUYRT el correct. Reason gives appropriate
T B explanation to the statement.

103. 9RA H b &1 9gE qEiEReiy et 103. To deal with which two major

9 Muer 3 ﬁ*ﬂ'{ Hag qqYT REEL environmental concerns in India,

SIS (1974) F TG &l T8 7 the Central Pollution Control Board

(1974) was established ?

1) 91 9 & ggu 1) Soil and noise pollution

2) 93 Td S ECN 2) Air and water pollution

3) dg Cl=IT) qgq T 3) Air and noice pollution

4) = Ug iy Gfed |+l gy 4) All types of pollution including

sea and space

[ Level-3 /1308 ]

P.T.O.
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104. 9T Uh fasprasiiar orefeqawen 8, sad

105.

106.

IR & HE-91 €9 TG99 & 3@
ST ® ?

1) o iR

2) ITMYBR

3) UHIEHR

4) SAMYHR

Qe AT I
A A= q&g B P
() (1) oTasE ag]
(i) TH  (9) qEN a9
(iif) Fome  (9) = agg

P-4 o @& ® ?
1) (i-37) (ii-9) (iii-q)
2) (i-37) (ii-9) (iii-=)
3) (i-9) (ii-9) (iii-37)
4) (i-9) (1i-9) (iii-37)

Frefefed & | SF-4 afes g

% " AT FeT e ?

1) SOThi SR El S Bl

2) Fo G TR AR e
BISECAG ]

3) AN & RUCT § AT A
STl

4) e A ST

[ Level-3 /1308 ]
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India is a developing economy,
which form of market is most

commonly seen in it ?
1) Perfect competition
2) Oligopoly

3) Monopoly

4) Duopoly

Match each other :

Income Nature of
elasticity goods
(i) Zero (a) Essential goods
(i) Positive (b) Normal goods
(iii) Negative (c) Inferior goods

Which option is correct ?
1) (i-a) (ii-b) (iii-c)
2) (i-a) (ii-c) (iii-b)
3) (i-b) (ii-c) (iii-a)
4) (i-c) (ii-b) (iii-a)

Which of the following is not a
method of collecting primary data ?
1) Information through enumerators

2) Information through schedules

to be filled by the informants
3) Obtaining information from
reports of commissions

4) Direct personal investigation
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107. TR 71T § fom R 9w e 107. The sum of the deviations of
3 foaemt &1 98T 959 A R ¢ different values taken from the
arithmetic mean is always :
1) A 1) Zero
2) 9gdlHD 2) Positive
3) & 3) Onmne
4) =l 4) =l
108. fdeer {fd gy e Aa = 108. Which mean can be calculated with
TeEdr | fh9 W @ TONT H S the help of inspection method and
ot 8 ? grouping method ?
1) X 1) X
2) Z 2) Z
3) M 3) M
4) HM 4) HM
109. IR WRAE gES § | 40% R E, 109. If 40% of Indian men are educated,
ar 3'% gﬁ-ﬁﬂ 4 TN & foTa GaSal how many degrees will be used to
fe3it 1 SWNT fhar S ? represent it in the pie-diagram ?
1) 144° 1) 144°
2) 180° 2) 180°
3) 712° 3) 712°
4) 40° 4) 40°
110. “mrafs fIUIEB” frem @t & - 110. "Dynamic multiplier" considers :
1) Fad @I A | 1) Only on autonomous investment
2) Faq URT Fasr | 2) Only on motivated investment
3) wetm =)l ¥ uRaaHl & 999 9 3) On the time path of changes in
RES related variables
4) HHET TWifa | 4) On price inflation

[ Level-3/1308 ] P.T.O.
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111.

112.

113.

fp orefame F oriaTe @l “amiieTE
fasT=t @ T er ot ?

1) fd

2) et

3) dguead
4) FHH

A B YT & AT |

1) A & AR el 78T 8 9
2

2) M| HET o} g @) B 9.
2

3) o o} Frafa aFt ¥ & .
2

4) @ AR ol I T & 91
gl

‘o &Ro THo” (vfcReama= il

d9id ) & IR § PE-A1 FI Gl

TEE 7

1) To 3o THo & Hes & HRY
q @ dowl @b qoiag & Sl
AT B B

2) To #No UHo Ul &% @&
el o f4g W IEE RS
T G O el ol

3) Wo o THo T & el &b
W B gl Tadiaar § qRemd
Bl &l

4) THo 3o THo FHAI A faRvm
Tl Tl & A B A |
gReia &t Bl 2
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Which economist called economics
"the queen of social sciences" ?

1) Hicks
2) Marshall
3) Samuelson

4) Keynes

Due to devaluation of the country's

currency :

1) Imports become cheaper and
exports become expensive.

2) Imports become expensive
and exports become cheaper.

3) Import and export both become
expensive.

4) Import and export both become
cheaper.

Which statement is not correct
about "MRS"
Substitution) ?
1) Due to the decrease of MRS the

IC become concave towards

(Marginal Rate of

the origin.
2) MRS
negative slope of the IC at any

is obtained from the

point.

3) MRS 1is defined by the
movements occurring on the
same IC.

4) MRS is never defined by the

movements between different
IC's.
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114

115.

. Sllo To dlo & &Y FREHT & FFAR

ot offqm ST =1 ¥ -0 9=
aftafea &7 &l & 7

1) TEr & SR g, S
P @ IUHT #X A 2

2) WA IR I, SN AR A0
Ieel & & H O 2 ol

3) WEMl H @I & fEm & fau
SUHRT I RN gl

4) URPEN @ U IRAR & &=
3 foe it T fand

‘U AHTET & THE AN I9d
Fre & ¥ R w39
AR e T & 8 817 98w
frfaiaa & & foha orfamel &1 § 7

1) fer
2) =L

3) dguead
4) e
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According to the expenditure
approach of GNP, which item is not
included in private final consumption
expenditure ?

1) The wvalue of production of

food grains, which the farmers

themselves consume.

2) Wages and salaries, which
individuals receive in form of

kind.
3) Rental value of houses for own
residence.
4) Services rendered by
housewives to their family

members.

"Every economy faces three major
problems which are related to what,
how and for whom." This statement
is of which of the following
economists ?

1) Hicks

2) Marshall

3) Samuelson

4) Tobin

P.T.O.
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116. AWl & HER § UH %] P IM
X § fHHl qEU g%y W U
HTA B Bl Bl o @rlht T oaeg
|l B I IE MG A ..

1117.

118.

AT e ol
1) IfaER
2) dRdidh
3) THiftH
4) wEE

TS % TPha 1 & ?
1) ST RaaE fOsTe Bl

2) ST SIS [ 2l

3) STIAE FAT Bl
4) I FAT TG AT A o

“AtmE T w1 Ty fPae T8

g7
1) IUNET P B AR EE 9

2) qedl 9% 9
3) IR Hl HYee |
4) T B HAd
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In the world of scarcity, choosing

one good means giving up another

good. The value of any given good

or service is called the .............

cost of that decision.

1)
2)
3)
4)

Opportunity
Real
Monetary

Direct

What is the nature of Economics ?

1)

2)

3)
4)

Economics is a positive (real)
science.
Economics is a normative
science.

Economics is art.

Economics is both art and

science.

"Scale of Preference" is not related

to:

1)

2)
3)
4)

Consumer's taste and

preference
Indifference curve
Consumer satisfaction

The price of the item
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119. f=fofed & § #F-@ oW ‘afe 119. Which of the following question is
rdeTe’ | TEied e T ? not related to 'Microeconomics' ?
1) SdEA 3 el H®oed Hd 1) How will the returns to factors
freifRa = ? of production be determined ?
2) Th Y a%] QA g*:‘g£ T W 2) How much will a firm produce
feheT SETes B 7 at a given price of a product ?
3) T ST H SURA & arem 3) How will the factors of
FT ST HY BT 7 production be allocated among
different uses ?
4) T’f AR Y I b o1 Hewell 4) How can full employment be
g7 achieved ?
120. UM F HHIA H TFA & w9 F 120. "The Cobweb" as a method of
“dq ST © studying economics is :
1) At farsarser 1) Dynamic analysis
2) Wfqs fasauer 2) Static analysis
3) JIHb e fagarer 3) Comparative static analysis
4) Y T Wed EESLE 4) Analysis without time element
121. f=fdiaa @ gafkid i 121. Match the following :
(i) JsEa (37) ot e () Questionnaire (a) Primary data
(i) ded Gfa (3) faxies @@ () Lotterymethod (b) Secondary data
(iii) GHE-9A (H) I ECDE (iii) Newspaper (c) Sampling
a7 fasheq ?ﬁ : Choose the correct option :
1) (@(-97) (ii-9) (iii-9) 1) (i-a) (ii-b) (iii-c)
2) (1-39) (1i-¥) (iii-) 2) (i-a) (ii-c) (iii-b)
3) (-9 (ii-37) (iii-¥) 3) (i-b) (ii-a) (iii-c)
4) (1-9) (ii-9) (iii-37) 4) (i-c) (ii-b) (iii-a)

[ Level-3/1308 ] P.T.O.
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122.

123.

124.

125.

P e K 7 T SR
g7
1) R 1 GEahis

2) T H YD
3) TR F GIHE

4) S H YR

FON AV H HIE & fRH TR
T T & 8 7
1) g

2) WRTEHI Hl TG
3) faidl @t sdicated ®<h

4) ST B TEGEHT

aRa e S @ Afse Aia @
& o9 HH-A1 T ¢ °

1) T R & o< B

2) JRi% gig i icaried HT

3) AT %l el bl AR B

4) TG F foedt g X § Reran
SISl

fofesr oM @@ § dauem ARG @l

SCEAIREE R Ll | N 4 g
5H SUMT & SYER 39 WY AR
Pl TG ........... 21y

1) 1872-15.4 %S
2) 1881 -35.4 FS
3) 1881 -25.4 FS
4) 1872-35.4 %S

[ Level-3 /1308 ]
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Which index is based on geometric
mean ?

1) Fisher'sindex
2) Paasche'sindex
3) Laspeyre'sindex

4) Baule'sindex

How can the deficit in trade balance
be eliminated ?

1) Devaluation

2) By increasing inflation

3) Discouraging exports

4) By increasing imports

Which is not the main objective of

the monetary policy of the RBI ?

1) Achieving price stability.

2) Encourage economic growth.

3) Maximizing the productivity of
money.

4) Stabilizing the foreign exchange
rate of rupee.

During the British rule, the first
synchronous census of India was
conducted in .......... , according to
this census the population of India
at that time was .......... .

1) 1872 -15.4 Crores

2) 188l - 35.4 Crores

3) 1881 -25.4 Crores

4) 1872 - 35.4 Crores
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1217.

128.

‘oest Are” A AW dE-a 78

g7

1) dEs qE B gEe  qREid
BT =iy

2) ¥& gl el WA B
Bl

3) T& W™ Tl § wailes geiad
BT =Ry

4) T F9 deroeE  feeE d
eg® Bl A1y

aAfvet (We) g9 & o R ¢

1) 9 H g & 9 dHid STHN
ygiy el &l

2) M H gis & | diHid IuHT
ygfa gt &l

3) W H gfs & | HiHid IUAT
ygfa eTafakia &l &l

4) 99 MF F FH BN B, A STEN
Ig H IEh ATEY FHH el
B B

aiftroTes S @ ORI ¢ ‘S T @
U i qor R @ gl
T a9 31”7 e & o ?

1) fhoea RS
2) THo Tqo 3
3) e

4) JTH
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Which is not a characteristic of the

"Ideal Mean" ?

1) The
clearly defined.

2) It should be based on all

values.

ideal mean should be

3) It should be most affected by

the extreme values.

4) This should be helpful in other

algebraic interpretations.

"Ratchet effect" means :

1) MPC decreases with increase
in income.

2) MPC increases with increase
in income.

3) MPC remains unchanged with
increase in income.

4) When there is a decrease in
income, there is no corresponding

decrease in consumption.

Definition of Commercial Bank : "A
bank is a manufacturer of credit
and a instrument for facilitating

exchange." Who gave it ?
1) Findlay Shirras

2) M. L. Jhingan

3) Crowther

4) Sayers

P.T.O.
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129

130.

131.

. Frme Ry @ ot ©

1) Fad Afds T B STEHIA

2) %ad HMAF A GG a6
ST

3) 9MH 9 fafdre ey @t el

4) fafire Fepy @ W @RS
A @ iR

NG WEAoE e & 39 B
el e & AR &l €

I SURH & d@l %l SERedl d

g DI
I 9 R 3% & T&HR &
AT J&M |

I 39 & ST & Siie &l o §
I HT|

1) 13RI
2) 18R I
3) II &R I
4) Fa9 1

“dfa frg” & T i & 7

1) B g W g Sw
AT & SR B

2) R g W o ST A
& S Bl

3 P g W W IwEIf
A B SR B

4) 9 o5 W FF SWRET A
2 S Bl
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Deductive method means :
1) Study of physical elements only

2) Study of only human or social
facts

3) From general to particular

4) From particular conclusions to

general axioms

Infrastructure contributes to the

economic development of a country

by:

I. Increasing the productivity of
factors of production.

II. Providing stability to the state

and centre government.

III. Improving the quality of life of
the people of the country.

1) TandlIl
2) TandlIll
3) ITandIIl
4) Onlyl

What is meant by "Saturation Point" ?

1) The point at which marginal
utility is maximized.

2) The point at which total utility
is maximized.

3) The point at which marginal
utility is minimized.

4) The point at which total utility

is minimized.
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133.

134.
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. W % Rl B TgE

-l T ?

1) ATEA-FEA Y
2) e e [y
3) e yam &y
4) TRl HYF Oy

Sfto o o fewiex WM & & -

1) Sflo G0 Glo ¥ & SHEEA &
g9g &M & g

2) Sito G0 Yo # | Al # gf&
F THG T & [T

3) Silo THo Yo H | AR UM &
g9lg &M & foig

4) ST 9@ 7 4 fUsq awt &
JET &l &M & [oT

o (D) : Fdl g9 g |
T TF ®iE (ER) H
AR B

H (A1) : Fpell a9 ® ‘Sole @ Her
U% Ja76 = o

1) [ FHIT T B
2) I HIF G R
3) @ad U (I) TEl 2

4) Fad HIF (I) T 2|
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What is the main method of

principles of Economics ?

1) Inductive-Deductive method
2) History writing method

3) Controlled experiment method

4) Story telling method

GNP deflator is useful to :

1) Remove the effect of population
from GNP

2) Remove the effect of rising
prices from GNP

3) Remove the effect of double

calculation from GNP

4) Remove previous years

production from National Income

Statement (I) : At some point of

time 'Public debt'
is a stock concept.

Statement (II) : In a given year
'‘Budget deficit' is
a flow variable.

1) Both statements are wrong.

2) Both statements are correct.

3) Only statement (I) is correct.

4) Only statement (I) is wrong.

P.T.O.
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135.

136.

el JUAHAT (Y BT ©
1) g HEd |

2) R WEHy W

3) TEMI & A W

4) | faweq w2 @

R -1: SHEK W Y fmm ok
e @™ & [
Srgug 4

AR -I0: I & @ife qed &
U 9, S A qgaent
P HE HaA 2l

H??i%lib_vqﬂﬁ:

1) X -10d AR - I a1 §& 781
2l

2) Pad AR -1 T&I &

3) 9K -1 T4 X - I A1 && &
AR - I, R - 1 &I | e
FXAT B

4) AR -1 TF X - I A1 q&r &
AfeT ) - 11, X - 1 & &
A & B o

[ Level-3 /1308 ]
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135. Food availability depends on :
1) Supply chains
2) Food reserves
3) Import of food grain

4) All options are right

136. R-I: The Zamindari system was
unsuitable for agricultural
development and social
justice.

R-II: The land was owned by

the middlemen who got the
agricultural work done by
charging Lagaan.

Choose the correct option :

1) Both R -1 and R - II are not

correct.
2) OnlyR-1Iis correct.

3) BothR-IandR-II are correct.

R -II correctly explains R - 1.

4) BothR-IandR-1II are correct
but R - II does not explain R -1

correctly.
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137. Fr=fafad & & @9-a1 o, RU g
HTHS F AR TgeH IR ()

138.

g7

25, 28, 35, 38, 45, 46, 52, 56, 58, 59, 61

1)
2)
3)

4)

23

24

35

46

TR AR oniie FEem & dEy

T oG U By

1)

2)

3)

4)

ARG ¥ qaue @Y o feasayan
9 1934 § YTa€ig JoT T

e 7 ‘@ve A B
gfvsar A g fordl

Q@ & 9RGE FENHE &
foar #ed &
9@ § o9 B PN F TeE

I F dfEd W H TEME

i
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Which one of the following is the

interquartile range of the given

data ?

25, 28, 35, 38, 45, 46, 52, 56, 58, 59, 61

1)
2)
3)

4)

23

24

35

46

Select the false statement regarding

early Indian economic planning :

1)

2)

3)

4)

In India, Sir M. Visvesvaraya
first made a five-year plan in

1934.

Visvesvaraya wrote a book
named 'Planned Economy for
India'.

Visvesvaraya is called the father

of Indian planning.

Visvesvaraya proposed to
reduce labour from agriculture
and concentrate it in industries.

P.T.O.
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139. T & TE FHE - SREA G SR g
A, St BRd wifd B SMER o,
fepe frepfRra &t ?

1) faferw it

2) Hlo gHIH

3) THo THo WM
4) FET A

140. IR 3 F ARG, A H & qhs H
20% F9T FXJ &, A [E B AN
1 B ?

1) 0.2
2) 0.5
3) 2.0

4) 5.0

141. HAA & 768 GOl & gfieh @ |
FH HH a9 gedl § ¢
1) i
2) gt
3) AU

4) yfcET
[ Level-3 /1308 ]

139.

140.

141.

GET IT ON
Google Play

Who developed the new wheat
varieties — Sharbati Sona and Pusa
Lerma, which were the basis of

Green Revolution ?

1) William God

2) C. Subramaniam
3) M. S. Swaminathan

4) Norman Borlaug

If the citizens of a country save 20%
of the increase in income, then what

will be the value of the multiplier ?
1) 0.2
2) 0.5
3) 2.0

4) 5.0

In which system of taxation there is

least pressure on the rich class ?
1) Mixed

2) Progressive

3) Proportional

4) Regressive
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143.
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. ey Olid @A ©

1) &ad gafeg § aRad |

2) %ad A H 9Raad 9

3 T @ yeieg, T & AW H
gRacH §

4) TG AR A aFr § qRecs
q

HET 9% S} Gd IR § it
%l foeht @1 Heiaq gRomy @ 8w ?

1) T X & & H gha

2) T § gis iR & & F FHi

3) dX@dr oiY =y X § &4l

4) T H FH R I X H gha
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Correlation coefficient is

independent :

1) By changing the origin only

2) By changing the scale only

3) Neither the origin nor the
change in scale

4) By changing both, the origin

and scale

What would be the likely outcome
of a sale of securities by the Central

Bank in the open market ?

1) Increase in liquidity and

interest rates

2) Increase in liquidity and

reduction in interest rates

3) Reduction in liquidity and

interest rates

4) Reduction in liquidity and

increase in interest rates

P.T.O.
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144. fE851g dfed § el waq a&gel @
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In the two-sector model, between
which two sectors does the flow of

factors and goods occur ?

(1) Household

(ii) Producing Firms

(iii) Government

(iv) Foreign Countries

Choose the correct option :

1) Only (i) and (iii) are correct.
2) Only (i) and (ii) are correct.
3) Only (iii) and (iv) are correct.

4) Only (ii) and (iii) are correct.

"What should be" is the subject

matter of :

1) Positive (Real) Science
2) Normative Science

3) Arts

4) Statistics
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Under what circumstances does

marginal cost decrease ?

1) When there are equal returns.

2) When there are diminishing
returns.

3) When there are

returns.

increasing

4) In case of all types of returns.

What

revenue by selling one more unit

is the increase in total

of a product called ?
1) Marginal product
2) Marginal revenue
3) Average product

4) Average revenue

Who is included in the "organized

sector" ?

I. Al public sector establishments.

II. Private sector establishments
employing 10 or more
employees.

ITII. At least two people working
together.

1) TandIlI

2) IandlIl

3) Onlyl

4) AlI, IIandIIl

P.T.O.
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Select the correct option regarding
the following statement and reason :
Statement : Generally the Production

Possibilities Curve (PPC)

is concave towards the

origin.

Reason: The reason for this is
the law of increasing
relative cost.

1) Both are correct, reason

correctly explains the statement.

2) Only statement is correct,
reason is not correct.
3) Only reason is correct,

statement is not correct.

4) Statement and reason both are
correct but reason not correctly

explains the statement.

Which characteristic does not occur
in monopolistic competition ?

1) Identical product

2) Many buyers and many sellers
3) Entry of new firms

4) Product discrimination

[ Level-3 /1308 ]
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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